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-XOLWD� 3UDWLZL�� ������������ 7DQJJDSDQ� :LVDWDZDQ� 7HQWDQJ� :LVDWD� .XOLQHU�
.RWD�%XNLWWLQJJL������

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQGHVNULSVLNDQ� GDQ�PHQJDQDOLVLV� ZLVDWD�
NXOLQHU� EHUGDVDUNDQ ���� :LVDWD� NXOLQHU� EHUGDVDUNDQ� DNVHVLELOLWDV� GL� .RWD�
%XNLWWLQJJL� ����:LVDWD�NXOLQHU�EHUGDVDUNDQ�KDUJD�GL�.RWD�%XNLWWLQJJL� ����:LVDWD�
NXOLQHU�EHUGDVDUNDQ�NHQ\DPDQDQ�GL�.RWD�%XNLWWLQJJL��

-HQLV�SHQHOLWLDQ�DGDODK�GHVNULSWLI�NXDQWLWDWLI� 3HQHOLWLDQ�GLODNXNDQ�GL�.RWD�
%XNLWWLQJJL� SDGD� EXODQ� 0DUHW� VDPSDL� VHOHVDL�� 3RSXODVL� SHQHOLWLDQ� DGDODK�
ZLVDWDZDQ� NXOLQHU� \DQJ� EHUNXQMXQJ� GL� .RWD� %XNLWWLQJJL�� 6DPSHO� SHQHOLWLDQ�
GLDPELO� GHQJDQ� WHNQLN DFFLGHQWDO� VDPSOLQJ \DLWX� VDPSHO� EHUGDVDUNDQ� VLDSD� VDMD�
\DQJ� GLWHPXL� SDGD� VDDW� PHODNXNDQ� SHQHOLWLDQ�VHKLQJJD� GLGDSDWNDQ� VDPSHO�
VHEDQ\DN�����UHVSRQGHQ��'DWD GLDQDOLVLV GHQJDQ�IRUPXOD VFRULQJ�

+DVLO�SHQHOLWLDQ PHQXQMXNNDQ�EDKZD�� ����7DQJJDSDQ�ZLVDWDZDQ� WHQWDQJ ZLVDWD�
NXOLQHU� EHUGDVDUNDQ� DNVHVLELOLWDV� \DLWX� NRQGLVL� MDODQ� PHQXQMXNDQ� YDULDVDL� GLDQWDUDQ\D�
VDQJDW�EDLN�����������EDLN�����������SDGD�XPXPQ\D�PHPLOLNL�NRQGLVL�MDODQ�EHUXSD�DVSDO�
GDQ�EHWRQ�\DQJ�PHPXGDKNDQ�SHQJHQGDUD�PHODOXLQ\D������7DQJJDSDQ�ZLVDWDZDQ�WHQWDQJ
ZLVDWD� NXOLQHU� EHUGDVDUNDQ� KDUJD�PHQHPXNDQ� DGDQ\D� NHFHQGUXQJDQ�ZLVDWDZDQ� NXOLQHU�
\DQJ�PHQJDQJJDS� EDKZD� KDUJD� NXOLQHU�PDVLK� WHUNDWHJRUL� FXNXS�PXUDK� �������� NDUHQD��
FLWD�UDVD�KLGDQJDQ�WHUPDVXN�UDVD�QDVLRQDO�GHQJDQ�WHNVWXU�\DQJ�XPXPQ\D�EHUPLQ\DN�GDQ�
SRUVL� VDQJDW� EDQ\DN�� ���� 7DQJJDSDQ� ZLVDWDZDQ� WHQWDQJ ZLVDWD� NXOLQHU� EHUGDVDUNDQ�
NHQ\DPDQDQ� VXGDK� WHUPDVXN� NDWHJRUL� � EDLN� �Q\DPDQ�� �������� NDUHQD� ZLVDWDZDQ�
PHUDVDNDQ�NHQ\DPDQ�GDUL�VHJL�ILVLN��OLQJNXQJDQ�GDQ�VRVLDO��
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